DATE | SYM | RELEASE @]” DRI CKl ARTEX AIRCRAFT SUPPLIES, INC. |DRAWING NO:
17-10-01 A T DCN 1852 ba ToF TP 14405 KEIL ROAD NE, AURORA, OR 97002 455-0030
04-16-02 B DCN 1975 bQ | OF | RY DATE: APPROVED BY: REVISION:
121203 | C |DCN2335 |ba |oF [P | 08-12-97 4/M i W c
12-1304 | C |DCN2518 |DF |[Ri | BL {DESCRIPTION: ¢
11-07-06 C | DCN 2881 W”‘ &, W REMOTE SWITCH INSTALL KIT (LEARJET)

! PAGE 1 of 1

QUANTITY PART NUMBER  REV. DESCRIPTION
1 ea. 455-0030 Rev C INSTALL KIT (Remote Switch)

4 ea. 241-0400 - Hex Nut, 4-40 Reduced Dim.

2 ea. 241-0632 - Hex Nut, 6-32 Self Lock

4 ea. 247-0400 - Washer, Internal Tooth Lock #4

2 ea. 213-0632 - Screw, Phillips 100° 3/8 x 6-32

1 ea. 453-0030 c Remote Switch Assembly

1 ea. 591-0427 - Label, ELT Cockpit “CAUTION”

1 ea. 591-0428 - Label, ELT Cautionary Use Advisory

Packaging Instructions:
Note: 4563-0030 is already bagged and labeled.

Package all parts in one bag. Print out label 594-0030 with applicable information, date, and initial.
Fold over top of bag twice and staple. Place the label on outside of bag.

Form 1001




